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) Answer either in English or in Assamese.

1. Answer the following questions as directed :
: 1x5=5

TeTe Al eHERE NorgE Oe f@e ¢

" (@ An operating system is a system
software. (State true or false)

w38 HoCeT @bt BB software.
(%% & o5 [&F4))

(b) The binary number 110101 in octal
format is .. (Fill in the blank)
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(@)

(e)

: 2 talb format ©
110101 binary &G oc
i (A F1Z 77 )

The range of numbers W.hiCh f:ar.l be
stored in a char type variable is :

&bt char type boF® TR 7RI KRG iy
2 3 '

() -99 to +99

(i) -128 to +128

(iii) 128 to +127

: f the above :
(iv) None o (Choose the correct option)

(3w Reest R GATST)

Precedence of arithmetic operators are
higher than assignment operator.

(State true or false)
Arithmetic w9{[d644 Precedence of

: ic SEBAelE @R
arithmetic ™ (o 7 G )

library function is used for

: allocation.
dynamic memory (Fill in the blank)

' Dynamic memory allocation I3 .
library ®iH< IR T4 A |

(T HZ 999 )
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Answer any five of the following questions :

Wﬁmﬁm«ﬁm%@mm

2x5=10

‘(@) What are the major components of a

(b)

()

(d)

(e)

digital computer ?
feferese =1%o 32 wifeicai o

What are the advantages of 2’s
complement over 1’s complement ?

I’s complement ©(F 2’s complement ¥

ARaER e

List any two differences between ASCII
and Unicode.

- ASCII i<t Unicode-3 Rz 757 #i1<f B |

‘What are the differences between
compiler and interpreter ?

Compiler Si% interpreter 3 #{i<<ca1T o4t |

What is meant by associativity of
operator ?

Operator I associativity @ & TR 2
What is L-value and R-value ?
L-value 9% R-value &2
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(n)

¥

0

What is the difference between break
and continue statement ?

Break 9ll% continue statement 9 ANLFRE
e

What are the differences between
malloc () and calloc () function ?

malloc () % calloc () ‘@TW ALFIRT
et

What is the difference between
structure and union ?

Structure 9% union ¥ R GISRGEIN
What is function prototype ?

Function prototype =2

Answer any four of the following questions :

5x4=20

Wﬁmmmﬁmmwﬁmwms

(a) Draw a flowchart to find the largest of

three input numbers.

B! input T AR TGB! BferaceT Ging

flowchart S |
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(b)

()

(@

(e)

(9)
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What are the different datatypes
available in C language ?

C language © 23! fifeq datatypes @
fae

Explain different types of operators
available in C language.

C language © o5l Rfer aeiee operators
@R 3 ¥4

Differentiate call by value and call by
reference with suitable example.

Call by value 9% call by reference ¥

. AR CHZINER TS 91 5 |

Write a recursive function to find GCD
of two integers.

Vol 5@ A GCD SRR €6l recursive
I forall |

What is a pointer ? List the permissible
operations on pointers.

Pointer &2 Pointer ¥ #9¢ F<1 2/
faPTes oiferel 4ge 1 |

Write brief description of any five string
manipulation functions.

String fFREY 1 R 55! TG 53
el forat |
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What is preprocessor directive ? Write
brief description of any three
preprocessor directives.

Preprocessor directive 5o Rt fomor
preprocessor directive Wﬂ‘ﬁT e

4. Answer dny one of the following questions :

1QX1=10

Rzt @bt 2@ Tea el ¢

(@)

(b)

()

What is format specifier ? Describe any
ten format specifiers.

Format speéiﬁer &9 il 72b) format

- specifier 9 gefet ol |

Write a program to input two matrices
and find sum and product of both.

'@imatrixiﬂ"ﬁaﬁﬁmmﬂiﬁw

ofRereel TfeIRe <l cattelf fovat |

Write a C program to dispiay the
contents of a file. Also display the
number of characters and lines in the
file.

1 13eTS 2! SAPTIR (FRRIACE <1 C (el

'mlmmw«ﬂwwmﬁa-

ARANe (US|
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(d) Write .functions to perform followin
operations on string : g

String © WafiRe fEarmg s wiw

o

() Reverse the string

(1) Ca%c_ulate number of vowels in the
string
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